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CONSUMER ELECTROMCS
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Full Marks - 70

Pass Ivtarks - 28

Time - Three hours

The figures in the margin indicarc full marks
for the questions.

Answer question No.l and ny fve from the rest.

l. (a) Fill in the blanks r lxl(FlO
(i) .In pdnciple a micnophone is like a

(dynamo, motor).

(ii) the range of audio frequency is '16 Hz
ro _ (l KHz, 4 KIIz" l0KIIz,
20KIIZ)

(iii) Woofer reproduces frequency
response and tweeter reproduces

frequence rcsporre. (tugtu low
mid)

(iv) The greater the gap size,. lower will be
dte 

- 

to gtve optimum output

(magnetism, frequency, wavelength,
voltage)
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(v) Ilead gap allows magnetic lines of force
to pass through the tape. This state,ment

is 

- 

(true, false).

(vi) Photo sensitive materials convert
into vidco signal. (sound,

brightness, colour, VHF signal)

(vii) India
(NTSC, PAL, SECAM)

(i'iii) Relative speed of tape is increased using
heads. (rctating stationary)

(iD Stereophony gives sense of' to
the listeners. ( loudness, timbrc, pitcll
directions)

(x) Cathode ray tube converts 

- 

into
brightness. (video signal, light, colour,

vHF).

What is the differ€nco between Mmophone and

Loudspeaker ? What are characteristics ofa good

microphone ? Name difrercot tlpes of micro-
phone and oglain with a neat sketch working
principle of any one of them. l+2+2+7:12
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3. What are sensitivity, selectivity and fidelity of
radio receiver ?

Draw the block diagram of a superheterodyne

AM radio receiver and explain each block.

Also mention some cornmon faults and their
rectifictions. 3+7+2=12

How is the tape recorded ? What is the relation

between head gap, tape speed and recorded

frequency ?

Draw the block diagram of a tspe record / replay

system and explain each block. 2+2+8=12

What is the tull form of PAL in TV sysiem ?

Name the primary colour in TV system. '

Draw the block diagram of a monochrome TV
receiver and explain the vertical deflection and

horizontal deflection sections. l+l+4+3+3:12

Why is the rotating head is used in VCR ? How

monochrome'and colour signal are separated ?

Why monochrome signal is frequency modulated

and colour signal is down converted ? Draw the

block diagram of VCR

4.

).

2+3+3+4=12
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7. \[/ri!e short notes on au.ry two : 6x2=12

(i) Washing machine

(ii) CD playcr

(iii) Microurave wen

(iv)Balance bsss and treble confiol

(v) Yag Udr antenna
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